# The $k$-Lucas Hyperbolic Functions 

Dursun Taşci and Huriye Azman*<br>Department of Mathematics, Gazi University, Faculty of Science, Teknikokullar, 06500 Ankara, Turkey<br>*Corresponding author: huriyeazman@gazi.edu.tr


#### Abstract

In this paper, we studied and introduced an extension of the classical hyperbolic functions. Namely, we defined $k$-Lucas hyperbolic functions and studied their hyperbolic and recurrence properties, and looked at relationship this new $k$-Lucas hyperbolic functions between $k$-Fibonacci hyperbolic functions, which were studied before by Falcon and Plaza. We gave the definition of the quasi-sine $k$-Lucas function and some of the features associated with it.


Keywords. Hyperbolic functions; Lucas numbers; $k$-Lucas numbers
MSC. 11B39
Received: February 19, 2014
Accepted: June 21, 2014
Copyright © 2014 Huriye Azman. This is an open access article distributed under the Creative Commons Attribution License, which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited.

## 1. Introduction

The Lucas sequence $\left\{L_{n}\right\}=\{2,1,3,4,7,11,18, \ldots\}$ is the simplest and most well-known integer sequence, each term is equal to sum of previous two terms, beginning with the values $L_{0}=2$, $L_{1}=1$. Furthermore the ratio of two consecutive Lucas numbers converges to the Golden Mean (Golden Ratio), $\phi=\frac{1+\sqrt{5}}{2}$.

Stakhov and Rozin defined the symmetrical hyperbolic functions [11]. Later, Falcon and Plaza introduced a new class of hyperbolic functions, which are called $k$-Fibonacci hyperbolic functions [5]. Also, they studied hyperbolic and recurrence properties of these new type functions [5]. Then, Falcon introduced the $k$-Lucas numbers [2].

In this paper, we intrudeced a new class of hyperbolic functions, which we have named "the $k$-Lucas hyperbolic functions". Additionally, we studied hyperbolic and recurrence properties of these functions, and looked at the relationship between $k$-Fibonacci hyperbolic numbers. Finally, we mentioned the quasi-sine $k$-Lucas functions and some relations about them.

### 1.1 The $k$-Lucas Numbers

Falcon [2] defined the $k$-Lucas numbers that are given for any positive real number $k$ by the following recurrence relation for $n \geq 1$ :

$$
\begin{equation*}
L_{k, n+1}=k L_{k, n}+L_{k, n-1} \tag{1.1}
\end{equation*}
$$

with the initial values

$$
L_{k, 0}=2, \quad L_{k, 1}=k .
$$

First $k$-Lucas numbers are:

$$
\begin{aligned}
& L_{k, 0}=2, \\
& L_{k, 1}=k, \\
& L_{k, 2}=k^{2}+2, \\
& L_{k, 3}=k^{3}+3 k, \\
& L_{k, 4}=k^{4}+4 k^{2}+2, \\
& L_{k, 5}=k^{5}+5 k^{3}+5 k, \\
& L_{k, 6}=k^{6}+6 k^{4}+9 k^{2}+2 .
\end{aligned}
$$

Particularly, for the case $k=1$, we get the classical Lucas numbers $\{2,1,3,4,7,11,18, \ldots\}$, with the recurrence relation

$$
L_{0}=2, L_{1}=1, L_{n+1}=L_{n}+L_{n-1} \quad \text { for } n \geq 1 .
$$

For the case $k=2$, we get the classical Pell Lucas numbers $\{2,2,6,14,34,82,198, \ldots\}$, with the recurrence relation

$$
P_{0}=2, P_{1}=2, P_{n+1}=2 P_{n}+P_{n-1} \quad \text { for } n \geq 1 .
$$

The characteristic equation for the recurrence relation of the $k$-Lucas numbers (1.1) is:

$$
\begin{equation*}
\sigma^{2}=k \sigma+1 \tag{1.2}
\end{equation*}
$$

This characteristic equation (1.2) has two real root:

$$
\sigma_{1}=\frac{k+\sqrt{k^{2}+4}}{2}, \quad \sigma_{2}=\frac{k-\sqrt{k^{2}+4}}{2} .
$$

In particular, if we take $k=1$ in $\sigma_{1}$, we have $\sigma_{1}=\frac{1+\sqrt{5}}{2}$ known as the golden ratio $\phi$. If we take $k=2$ in $\sigma_{1}$, we have $\sigma_{1}=1+\sqrt{2}$ known as the silver ratio. Finally, if we take $k=3$ in $\sigma_{1}$, we have $\sigma_{1}=\frac{3+\sqrt{13}}{2}$ known as the bronze ratio.

The Binet's formula for $k$-Lucas numbers defined by (see [2]):

$$
\begin{equation*}
L_{k, n}=\sigma_{1}^{n}+\sigma_{2}^{n} \tag{1.3}
\end{equation*}
$$

where $\sigma_{1}, \sigma_{2}$ are the roots of the characteristic equation (1.2).
By using $\sigma_{2}=-\frac{1}{\sigma_{1}}$, we can write the formula (1.3) as follows:

$$
\begin{equation*}
L_{k, n}=\sigma_{1}^{n}+(-1)^{n} \sigma_{1}^{-n} \tag{1.4}
\end{equation*}
$$

In [2], Falcon proved that: $\lim _{n \rightarrow \infty} \frac{L_{k, n}}{L_{k, n-1}}=\sigma_{1}$ where $\sigma_{1}$ is the positive root of Eq. (1.2). It is obvious that, for the case $k=1$, we get $\lim _{n \rightarrow \infty} \frac{L_{k, n}}{L_{k, n-1}}=\phi$.

## 2. $k$-Lucas Hyperbolic Functions

The classical hyperbolic functions are defined by:

$$
\begin{aligned}
& \cosh x=\frac{e^{x}+e^{-x}}{2} \\
& \sinh x=\frac{e^{x}-e^{-x}}{2}
\end{aligned}
$$

Moreover, we know that the Lucas hyperbolic sine and cosine functions are respectively given by [11, 13, 15]:

$$
\begin{aligned}
& s \operatorname{Lh}(x)=\phi^{(2 x+1)}-\phi^{-(2 x+1)} \\
& \operatorname{cLh}(x)=\phi^{2 x}+\phi^{-2 x}
\end{aligned}
$$

where $\phi=\frac{1+\sqrt{5}}{2}$.
We can expand these functions to the $k$-Lucas hyperbolic functions as follows:

$$
\begin{aligned}
& s L_{k} h(x)=\sigma_{1}^{(2 x+1)}-\sigma_{1}^{-(2 x+1)} \\
& c L_{k} h(x)=\sigma_{1}^{2 x}+\sigma_{1}^{-2 x}
\end{aligned}
$$

where $\sigma_{1}$ is the positive root of the characteristic equation $(1.2)$, that is $\sigma_{1}=\frac{k+\sqrt{k^{2}+4}}{2}$.
If we look at the graphics of $k$-Lucas hyperbolic sine and cosine functions, we see that $s L_{k} h(x)$ is symmetric with respect to the origin, while graphic of $c L_{k} h(x)$ presents a symmetry with respect to the axis $x=0$. For this reason, hence, we will define the $k$-Lucas hyperbolic sine and cosine functions, respectively:

$$
\begin{align*}
& s L_{k} h(x)=\sigma_{1}^{x}-\sigma_{1}^{-x}  \tag{2.1}\\
& c L_{k} h(x)=\sigma_{1}^{x}+\sigma_{1}^{-x}
\end{align*}
$$

since $\sigma_{1}+\sigma_{1}^{-1}=\sqrt{k^{2}+4}$.


Figure 1

The $k$-Lucas numbers are determined through the $k$-Lucas hyperbolic functions as follows:

$$
\begin{aligned}
c L_{k} h(2 n) & =L_{k, 2 n}, \\
s L_{k} h(2 n+1) & =L_{k, 2 n+1} .
\end{aligned}
$$

There are the following relations between the $k$-Lucas hyperbolic functions and the classical hyperbolic functions:

$$
\begin{aligned}
& s L_{k} h(x)=2 \sinh \left(x \ln \sigma_{1}\right), \\
& c L_{k} h(x)=2 \cosh \left(x \ln \sigma_{1}\right) .
\end{aligned}
$$

Also, the $k$-Lucas hyperbolic functions and the $k$-Fibonacci hyperbolic functions are connected among themselves by the following simple correlations:

$$
\begin{aligned}
& s F_{k} h(x)=\frac{s L_{k} h(x)}{\sqrt{k^{2}+4}}, \\
& c F_{k} h(x)=\frac{c L_{k} h(x)}{\sqrt{k^{2}+4}} .
\end{aligned}
$$

### 2.1 Properties of the $k$-Lucas Hyperbolic Functions

Now, we will give some properties about the $k$-Lucas hyperbolic functions, which are similar to the classical hyperbolic functions.

Proposition 1 (Pythagorean theorem).

$$
\left[c L_{k} h(x)\right]^{2}-\left[s L_{k} h(x)\right]^{2}=4 .
$$

Proof.

$$
\begin{aligned}
{\left[c L_{k} h(x)\right]^{2}-\left[s L_{k} h(x)\right]^{2} } & =\left(\sigma_{1}^{x}+\sigma_{1}^{-x}\right)^{2}-\left(\sigma_{1}^{x}-\sigma_{1}^{-x}\right)^{2} \\
& =\sigma_{1}^{2 x}+2+\sigma_{1}^{-2 x}-\sigma_{1}^{2 x}+2-\sigma_{1}^{-2 x} \\
& =4 .
\end{aligned}
$$

Proposition 2 (Sum and difference).

$$
\begin{aligned}
& 2 c L_{k} h(x \mp y)=c L_{k} h(x) c L_{k} h(y) \mp s L_{k} h(x) s L_{k} h(y), \\
& 2 s L_{k} h(x \mp y)=s L_{k} h(x) c L_{k} h(y) \mp c L_{k} h(x) s L_{k} h(y) .
\end{aligned}
$$

Proof. Let us prove the first identity:

$$
\begin{aligned}
& c L_{k} h(x) c L_{k} h(y)+s L_{k} h(x) s L_{k} h(y) \\
&=\left(\sigma_{1}^{x}+\sigma_{1}^{-x}\right)\left(\sigma_{1}^{y}+\sigma_{1}^{-y}\right)+\left(\sigma_{1}^{x}-\sigma_{1}^{-x}\right)\left(\sigma_{1}^{y}-\sigma_{1}^{-y}\right) \\
&=\sigma_{1}^{x+y}+\sigma_{1}^{x-y}+\sigma_{1}^{-x+y}+\sigma_{1}^{-x-y}+\sigma_{1}^{x+y}-\sigma_{1}^{x-y}-\sigma_{1}^{-x+y}+\sigma_{1}^{-x-y} \\
&=2\left(\sigma_{1}^{x+y}+\sigma_{1}^{-(x+y)}\right) \\
&= 2 c L_{k} h(x+y) .
\end{aligned}
$$

By doing $y=x$ in the first and third previous formula, we have:

$$
\begin{aligned}
& c L_{k} h(2 x)=\frac{1}{2}\left[\left(c L_{k} h(x)\right)^{2}+\left(s L_{k} h(x)\right)^{2}\right], \\
& s L_{k} h(2 x)=s L_{k} h(x) c L_{k} h(x) .
\end{aligned}
$$

Proposition 3 ( $n$th derivatives).

$$
\begin{aligned}
& \left(c L_{k} h(x)\right)^{(n)}= \begin{cases}\left(\ln \sigma_{1}\right)^{(n)} s L_{k}(x), & \text { if } n=2 m+1, \\
\left(\ln \sigma_{1}\right)^{(n)} c L_{k}(x), & \text { if } n=2 m,\end{cases} \\
& \left(s L_{k} h(x)\right)^{(n)}= \begin{cases}\left(\ln \sigma_{1}\right)^{(n)} c L_{k}(x), & \text { if } n=2 m+1, \\
\left(\ln \sigma_{1}\right)^{(n)} s L_{k}(x), & \text { if } n=2 m .\end{cases}
\end{aligned}
$$

### 2.2 Some Reoccurrences About the $k$-Lucas Hyperbolic Functions

Now, we will show some identities about the $k$-Lucas hyperbolic functions, which are related with the $k$-Lucas numbers.

Proposition 4 (Recursive relations).

$$
\begin{aligned}
& s L_{k} h(x+1)=k c L_{k} h(x)+s L_{k} h(x-1), \\
& c L_{k} h(x+1)=k s L_{k} h(x)+c L_{k} h(x-1) .
\end{aligned}
$$

Proof. Let us prove the first identity:
Since $\sigma_{1}^{2}=k \sigma_{1}+1$, then $\sigma_{1}^{x+1}=k \sigma_{1}^{x}+\sigma_{1}^{x-1}$.
In addition $\sigma_{1}^{-(x-1)}=k \sigma_{1}^{-x}+\sigma_{1}^{-(x+1)}$ then $k \sigma_{1}^{-x}-\sigma_{1}^{-(x-1)}=-\sigma_{1}^{-(x+1)}$.

$$
\begin{aligned}
k c L_{k} h(x)+s L_{k} h(x-1) & =k\left(\sigma_{1}^{x}+\sigma_{1}^{-x}\right)+\left(\sigma_{1}^{x-1}+\sigma_{1}^{-(x-1)}\right) \\
& =k \sigma_{1}^{x}+k \sigma_{1}^{-x}+\sigma_{1}^{x-1}+\sigma_{1}^{-x+1} \\
& =\left(k \sigma_{1}^{x}+\sigma_{1}^{x-1}\right)+\left(k \sigma_{1}^{-x}+\sigma_{1}^{-x+1}\right) \\
& =\sigma_{1}^{x+1}-\sigma_{1}^{-(x+1)} \\
& =s L_{k} h(x+1) .
\end{aligned}
$$

Proposition 5 (Catalan's identities).

$$
\begin{aligned}
& c L_{k} h(x-r) c L_{k} h(x+r)-\left(c L_{k} h(x)\right)^{2}=\left(s L_{k} h(r)\right)^{2}, \\
& c L_{k} h(x-r) c L_{k} h(x+r)-\left(s L_{k} h(x)\right)^{2}=\left(c L_{k} h(r)\right)^{2}, \\
& s L_{k} h(x-r) s L_{k} h(x+r)-\left(s L_{k} h(x)\right)^{2}=-\left(s L_{k} h(r)\right)^{2}, \\
& s L_{k} h(x-r) s L_{k} h(x+r)-\left(c L_{k} h(x)\right)^{2}=-\left(c L_{k} h(r)\right)^{2} .
\end{aligned}
$$

Proof. Let us prove the first identity:

$$
\begin{array}{rl}
c L_{k} & h(x-r) c L_{k} h(x+r)-\left(c L_{k} h(x)\right)^{2} \\
& =\left(\sigma_{1}^{x-r}+\sigma_{1}^{-(x-r)}\right)\left(\sigma_{1}^{x+r}+\sigma_{1}^{-(x+r)}\right)-\left(\sigma_{1}^{x}+\sigma_{1}^{-x}\right)^{2} \\
& =\left(\sigma_{1}^{x-r}+\sigma_{1}^{-x+r}\right)\left(\sigma_{1}^{x+r}+\sigma_{1}^{-x-r}\right)-\left(\sigma_{1}^{2 x}+2+\sigma_{1}^{-2 x}\right) \\
& =\sigma_{1}^{2 x}+\sigma_{1}^{-2 r}+\sigma_{1}^{2 r}+\sigma_{1}^{-2 x}-\sigma_{1}^{2 x}-2-\sigma_{1}^{-2 x} \\
& =\sigma_{1}^{2 r}-2+\sigma_{1}^{-2 r} \\
& =\left(s L_{k} h(r)\right)^{2} .
\end{array}
$$

By doing $r=1$ into Catalan's identities, Cassini or Simson's identities appear:

$$
\begin{aligned}
& c L_{k} h(x-1) c L_{k} h(x+1)-\left(s L_{k} h(x)\right)^{2}=k^{2}+4, \\
& s L_{k} h(x-1) s L_{k} h(x+1)-\left(c L_{k} h(x)\right)^{2}=-\left(k^{2}+4\right) .
\end{aligned}
$$

## Proposition 6.

$$
\begin{aligned}
& c L_{k} h(x) c L_{k} h(x+r)=c L_{k} h(2 x+r)+c L_{k} h(r), \\
& s L_{k} h(x) s L_{k} h(x+r)=c L_{k} h(2 x+r)-c L_{k} h(r), \\
& s L_{k} h(x) c L_{k} h(x+r)=s L_{k} h(2 x+r)-s L_{k} h(r), \\
& c L_{k} h(x) s L_{k} h(x+r)=s L_{k} h(2 x+r)+s L_{k} h(r) .
\end{aligned}
$$

Proof. Let us prove the first identity:

$$
\begin{aligned}
c L_{k} h(x) c L_{k} h(x+r) & =\left(\sigma_{1}^{x}+\sigma_{1}^{-x}\right)\left(\sigma_{1}^{x+r}+\sigma_{1}^{-(x+r)}\right) \\
& =\sigma_{1}^{2 x+r}+\sigma_{1}^{-r}+\sigma_{1}^{r}+\sigma_{1}^{-2 x-r} \\
& =\left(\sigma_{1}^{2 x+r}+\sigma_{1}^{-(2 x+r)}\right)+\left(\sigma_{1}^{r}+\sigma_{1}^{-r}\right) \\
& =c L_{k} h(2 x+r)+c L_{k} h(r) .
\end{aligned}
$$

By doing $r=0$ in the previous equations it is obtained:

$$
\begin{aligned}
\left(c L_{k} h(x)\right)^{2} & =c L_{k} h(2 x)+2, \\
\left(s L_{k} h(x)\right)^{2} & =c L_{k} h(2 x)-2, \\
s L_{k} h(x) c L_{k} h(x) & =s L_{k} h(2 x) .
\end{aligned}
$$

### 2.3 Some Relations Between the $k$-Lucas Hyperbolic Numbers and the $k$-Fibonacci Hyperbolic Numbers

Now, we will give some correlations between the $k$-Lucas and the $k$-Fibonacci hyperbolic numbers, like previously shown between the $k$-Lucas and the $k$-Fibonacci numbers [2].

## Proposition 7.

$$
\begin{aligned}
& \left(s L_{k} h(x)\right)^{2}=\left(k^{2}+4\right)\left(c F_{k} h(x)\right)^{2}-4, \\
& \left(c L_{k} h(x)\right)^{2}=\left(k^{2}+4\right)\left(s F_{k} h(x)\right)^{2}+4 .
\end{aligned}
$$

Proof. Let us prove the first identity:

$$
\begin{aligned}
\left(k^{2}+4\right)\left(c F_{k} h(x)\right)^{2}-4 & =\left(k^{2}+4\right)\left(\frac{\sigma_{1}^{x}+\sigma_{1}^{-x}}{\sqrt{k^{2}+4}}\right)^{2}-4 \\
& =\sigma_{1}^{2 x}-2+\sigma_{1}^{-2 x} \\
& =\left(s L_{k} h(x)\right)^{2} .
\end{aligned}
$$

## Proposition 8.

$$
\begin{aligned}
& c L_{k} h(x)=c F_{k} h(x-1)+c F_{k} h(x+1), \\
& s L_{k} h(x)=s F_{k} h(x-1)+s F_{k} h(x+1) .
\end{aligned}
$$

Proof. Let us prove the first identity:

$$
\begin{aligned}
c F_{k} h(x-1)+c F_{k} h(x+1) & =\left(\frac{\sigma_{1}^{x-1}+\sigma_{1}^{-(x-1)}}{\sqrt{k^{2}+4}}\right)+\left(\frac{\sigma_{1}^{x+1}+\sigma_{1}^{-(x+1)}}{\sqrt{k^{2}+4}}\right) \\
& =\frac{\sigma_{1}^{x-1}+\sigma_{1}^{-(x-1)}+\sigma_{1}^{x+1}+\sigma_{1}^{-(x+1)}}{\sqrt{k^{2}+4}} \\
& =\frac{\left(\sigma_{1}^{x-1}+\sigma_{1}^{x+1}\right)+\left(\sigma_{1}^{-(x-1)}+\sigma_{1}^{-(x+1)}\right)}{\sqrt{k^{2}+4}} \\
& =\frac{\sigma_{1}^{x}\left(\sigma_{1}^{-1}+\sigma_{1}\right)+\sigma_{1}^{-x}\left(\sigma_{1}+\sigma_{1}^{-1}\right)}{\sqrt{k^{2}+4}} \\
& =c L_{k} h(x) .
\end{aligned}
$$

## Proposition 9.

$$
\begin{aligned}
& \left(c L_{k} h(x)\right)^{2}+\left(s L_{k} h(x+1)\right)^{2}=\left(k^{2}+4\right) c F_{k} h(2 x+1), \\
& \left(s L_{k} h(x)\right)^{2}+\left(c L_{k} h(x+1)\right)^{2}=\left(k^{2}+4\right) c F_{k} h(2 x+1) .
\end{aligned}
$$

Proof. Let us prove the first identity:

$$
\begin{aligned}
\left(c L_{k} h(x)\right)^{2}+\left(s L_{k} h(x+1)\right)^{2} & =\left(\sigma_{1}^{x}+\sigma_{1}^{-x}\right)^{2}+\left(\sigma_{1}^{x+1}-\sigma_{1}^{-(x+1)}\right)^{2} \\
& =\sigma_{1}^{2 x}+2+\sigma_{1}^{-2 x}+\sigma_{1}^{2 x+2}-2+\sigma_{1}^{-(2 x+2)} \\
& =\sigma_{1}^{2 x}\left(1+\sigma_{1}^{2}\right)+\sigma_{1}^{-2 x}\left(1+\sigma_{1}^{-2}\right)
\end{aligned}
$$

$$
\begin{aligned}
& =\sigma_{1}^{2 x} \sigma_{1} \sqrt{k^{2}+4}+\sigma_{1}^{-2 x}\left(\frac{\sqrt{k^{2}+4}}{\sigma_{1}}\right) \\
& =\sigma_{1}^{2 x+1} \sqrt{k^{2}+4}+\sigma_{1}^{-2 x-1} \sqrt{k^{2}+4} \\
& =\sqrt{k^{2}+4}\left(\sigma_{1}^{2 x+1}+\sigma_{1}^{-(2 x+1)}\right) \\
& =\left(k^{2}+4\right)\left(\frac{\sigma_{1}^{2 x+1}+\sigma_{1}^{-(2 x+1)}}{\sqrt{k^{2}+4}}\right) \\
& =\left(k^{2}+4\right) c F_{k} h(2 x+1) .
\end{aligned}
$$

## Proposition 10.

$$
\begin{aligned}
& s L_{k} h(x) c F_{k} h(x)=s F_{k} h(2 x), \\
& c L_{k} h(x) s F_{k} h(x)=s F_{k} h(2 x) .
\end{aligned}
$$

Proof. Let us prove the first identity:

$$
\begin{aligned}
c L_{k} h(x) s F_{k} h(x) & =\left(\sigma_{1}^{x}+\sigma_{1}^{-x}\right)\left(\frac{\sigma_{1}^{x}-\sigma_{1}^{-x}}{\sqrt{k^{2}+4}}\right) \\
& =\frac{\sigma_{1}^{2 x}-\sigma_{1}^{-2 x}}{\sqrt{k^{2}+4}} \\
& =s F_{k} h(2 x) .
\end{aligned}
$$

## 3. The Quasi-sine $k$-Lucas Function

In Eq. (1.4), Binet's formula for the $k$-Lucas sequence was written as follows:

$$
L_{k, n}=\sigma_{1}^{n}+(-1)^{n} \sigma_{1}^{-n} .
$$

In Eq. (2.1), we defined the $k$-Lucas hyperbolic sine function as:

$$
s L_{k} h(x)=\sigma_{1}^{x}-\sigma_{1}^{-x} .
$$

Furthermore, we know that, where $x \in \mathbb{R}$, if we take $x$ as an odd number, $s L_{k} h(x)$ takes the value which correspond to the $k$-Lucas sequence, that is $s L_{k} h(x)=L_{k, n}$.

With them, using the well-known identity $\cos (n \pi)=(-1)^{n}$, we can give the following definition.

Definition 11. The quasi-sine $k$-Lucas function defined by:

$$
Q_{L, k}(x)=\sigma_{1}^{x}+\cos (\pi x) \sigma_{1}^{-x} .
$$

Note that $Q_{L, k}(x)=L_{k, n}$ for all integer $n$.

The graphics of $Q_{L, k}(x)$ for $k=1,2,3$ are given in Figure 2 .


Figure 2

Figure 3. shows that the graphics of $Q_{L, k}(x)$ for $k=1,2$ along with their evolving tangent curves which are the $k$-Lucas cosine and sine hyperbolic functions.


Figure 3

### 3.1 The Quasi-sine $k$-Lucas Functions and the $k$-Lucas Numbers

Now, we will give some relations about the quasi-sine $k$-Lucas functions, which are similar to the $k$-Lucas numbers.

Theorem 12 (Recursive relation).

$$
Q_{L, k}(x+2)=k Q_{L, k}(x+1)+Q_{L, k}(x) .
$$

Proof.

$$
\begin{aligned}
k Q_{L, k}(x+1)+Q_{L, k}(x) & =k\left[\sigma_{1}^{x+1}+\cos \pi(x+1) \sigma_{1}^{-x-1}\right]+\left[\sigma_{1}^{x}+\cos (\pi x) \sigma_{1}^{-x}\right] \\
& =k\left[\sigma_{1}^{x+1}-\cos (\pi x) \sigma_{1}^{-x-1}\right]+\left[\sigma_{1}^{x}+\cos (\pi x) \sigma_{1}^{-x}\right] \\
& =k \sigma_{1}^{x+1}-k \cos (\pi x) \sigma_{1}^{-x-1}+\sigma_{1}^{x}+\cos (\pi x) \sigma_{1}^{-x}
\end{aligned}
$$

$$
\begin{aligned}
& =\sigma_{1}^{x}\left(k \sigma_{1}+1\right)-\cos (\pi x) \sigma_{1}^{-x-2}\left(k \sigma_{1}-\sigma_{1}^{2}\right) \\
& =\sigma_{1}^{x+2}-\cos (\pi x) \sigma_{1}^{-x-2}\left(k \sigma_{1}-k \sigma_{1}-1\right) \\
& =\sigma_{1}^{x+2}-\cos (\pi x+2 \pi) \sigma_{1}^{-x-2}(-1) \\
& =\sigma_{1}^{x+2}+\cos \pi(x+2) \sigma_{1}^{-(x+2)} \\
& =Q_{L, k}(x+2) .
\end{aligned}
$$

Theorem 13 (Catalan's identity).

$$
Q_{L, k}(x-r) Q_{L, k}(x+r)-\left(Q_{L, k}(x)\right)^{2}=(-1)^{r} \cos (\pi x)\left(Q_{L, k}(r)\right)^{2}-4 \cos (\pi x) .
$$

Proof.

$$
\begin{aligned}
& Q_{L, k}(x-r) Q_{L, k}(x+r)-\left(Q_{L, k}(x)\right)^{2} \\
&= {\left[\sigma_{1}^{x-r}+\cos \pi(x-r) \sigma_{1}^{-x+r}\right]\left[\sigma_{1}^{x+r}+\cos \pi(x+r) \sigma_{1}^{-x-r}\right]-\left[\sigma_{1}^{x}+\cos (\pi x) \sigma_{1}^{-x}\right]^{2} } \\
&= {\left[\sigma_{1}^{x-r}+(-1)^{r} \cos (\pi x) \sigma_{1}^{-x+r}\right]\left[\sigma_{1}^{x+r}+(-1)^{r} \cos (\pi x) \sigma_{1}^{-x-r}\right] } \\
&-\left[\sigma_{1}^{2 x}+2 \cos (\pi x)+\cos ^{2}(\pi x) \sigma_{1}^{-2 x}\right] \\
&= \sigma_{1}^{2 x}+(-1)^{r} \cos (\pi x) \sigma_{1}^{-2 r}+(-1)^{r} \cos (\pi x) \sigma_{1}^{2 r}+(-1)^{2 r} \cos ^{2}(\pi x) \sigma_{1}^{-2 x} \\
&-\sigma_{1}^{2 x}-2 \cos (\pi x)-\cos ^{2}(\pi x) \sigma_{1}^{-2 x} \\
&=(-1)^{r} \cos (\pi x)\left[\sigma_{1}^{r}+\cos (\pi r) \sigma_{1}^{-r}\right]^{2}-4 \cos (\pi x) \\
&=(-1)^{r} \cos (\pi x)\left(Q_{L, k}(r)\right)^{2}-4 \cos (\pi x) .
\end{aligned}
$$

Theorem 14. For any integer $r$,

$$
\lim _{x \rightarrow \infty} \frac{Q_{L, k}(x+r)}{Q_{L, k}(x)}=\sigma_{1}^{r}
$$

Proof.

$$
\begin{aligned}
\lim _{x \rightarrow \infty} \frac{Q_{L, k}(x+r)}{Q_{L, k}(x)} & =\lim _{x \rightarrow \infty} \frac{\sigma_{1}^{x+r}+\cos \pi(x+r) \sigma_{1}^{-x-r}}{\sigma_{1}^{x}+\cos (\pi x) \sigma_{1}^{-x}} \\
& =\lim _{x \rightarrow \infty} \frac{\sigma_{1}^{x+r}+(-1)^{r} \cos (\pi x) \sigma_{1}^{-x-r}}{\sigma_{1}^{x}+\cos (\pi x) \sigma_{1}^{-x}} \\
& =\lim _{x \rightarrow \infty} \frac{\sigma_{1}^{x}\left(\sigma_{1}^{r}+(-1)^{r} \cos (\pi x) \frac{1}{\sigma_{1}^{2 x}}\right.}{\sigma_{1}^{x}\left(1+\cos (\pi x) \frac{1}{\sigma_{1}^{2 x}}\right.} \\
& =\sigma_{1}^{r} .
\end{aligned}
$$

In particular, taking $k=1$, we have that $\sigma_{1}=\phi$ and $\lim _{x \rightarrow \infty} \frac{Q_{L, k}(x+1)}{Q_{L, k}(x)}=\phi$.

## References

${ }^{[1]}$ A. Benjamin and J.J. Quinn, The Fibonacci numbers - exposed more discretely, Math. Mag. 76 (2003;), 182-92.
${ }^{[2]}$ S. Falcon, On the $k$-Lucas numbers, Chaos, Solitons \& Fractals 21(6) (2011), 1039-1050.
${ }^{[3]}$ S. Falcon and A. Plaza, On the Fibonacci $k$-numbers, Chaos, Solitons \& Fractals 32(5) (2007), 1615-1624.
${ }^{[4]}$ S. Falcon and A. Plaza, The $k$-Fibonacci sequence and the Pascal 2-triangle, Chaos, Solitons \& Fractals 33(1)(2007), 38-49.
${ }^{[5]}$ S. Falcon and A. Plaza, The $k$-Fibonacci hyperbolic functions, Chaos, Solitons \& Fractals 38(2) (2008), 409-420.
${ }^{[6]}$ V.E. Hoggat, Fibonacci and Lucas Numbers, Palo Alti, CA : Houghton-Mifflin (1969).
${ }^{[7]}$ A.F. Horadam, Ageneralized Fibonacci sequence, Math. Mag. 68(1961), 455-459.
${ }^{[8]}$ D. Kalman and R. Mena, The Fibonacci numbers - exposed, Math. Mag. 76 (2003), 167-181.
${ }^{\text {[9] }}$ V.W. Spinadel, The metallic means and design, in Nexus II: Architecture and Mathematics, Kim Williams (editor), Edizionidell'Erba (1998).
${ }^{[10]}$ V.W. Spinadel, The metallic means family and forbidden symmetries, Int. Math. J. 2(3) (2002), 279-288.
${ }^{[11]}$ A. Stakhov, On a new class of hyperbolic functions, Chaos, Solitons \& Fractals 23(2) (2005), 379-389.
${ }^{[12]}$ A. Stakhov, The generalized principle of the Golden Section and its applications in mathematics, science, and engineering, Chaos, Solitons \& Fractals 26(2) (2005), 263-289.
${ }^{[13]}$ A. Stakhov and B. Rozin, The Golden Shofar, Chaos, Solitons \& Fractals 26(3) (2005), 677-684.
${ }^{[14]}$ A. Stakhov and B. Rozin, Theory of Binet formulas for Fibonacci and Lucas $p$-numbers, Chaos, Solitons \& Fractals 27(5) (2005), 1163-1177.
${ }^{[15]}$ A. Stakhov and B. Rozin, The continous functions for the Fibonacci and Lucas $p$-numbers, Chaos, Solitons \& Fractals 28(4)(2006), 1014-1025.
${ }^{[16]}$ A. Stakhov and B. Rozin, The "golden" hyperbolic models of Universe, Chaos, Solitons \& Fractals 34(2) (2007), 159-171.
${ }^{[17]}$ S. Vajda, Fibonacci and Lucas numbers, and the Golden Section. Theory and applications, Ellis Horwood Limited (1989).

